


 

 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 

☐ ☐ ☐ 







Problem solving and reasoning questions 

 

1) What comes next? 

34 + 10 = 44 

44 + 10 = 54 

54 + 10 = 64 … 

 

2) Circle the number in each sequence which does not belong there: 

 

12, 14, 16, 18, 19, 22, 24 

 

60, 50, 40, 30, 12, 10, 0 

 

17, 19, 22, 23, 25, 27, 29 

 

3) How many lots of 10 in 40? ___ 

 

4) 14 is how many 2s? ___ 

 

5) There are ____ tens in 90. 

 

6) 2 x 10 = 10 x .2.   What do you notice? 

 

 

7) Count in 10s to 70. How many numbers have you said? ___ 

8) Count in 2s to 16. How many numbers have you said? ___ 



Problem solving and reasoning ANSWERS 

 

1) What comes next? 

34 + 10 = 44 

44 + 10 = 54 

54 + 10 = 64 ... 

64 + 10 = 74 

 

2) Circle the number in each sequence which does not belong there: 

 

12, 14, 16, 18, 19, 22, 24    Should be 20, sequence goes up in 2s. 

 

60, 50, 40, 30, 12, 10, 0    Should be 20, sequence decreases in 10s. 

 

17, 19, 22, 23, 25, 27, 29   Should be 21, sequence goes up in 2s. 

 

3) How many lots of 10 in 40?   4 

 

4) 14 is how many 2s?   7 

 

5) There are  9 . tens in 90. 

 

6) 2 x 10 = 10 x .2.   What do you notice?  Multiplication can be written in any 
order; the answer is the same. 

 

7) Count in 10s to 70. How many numbers have you said?  7 

8) Count in 2s to 16. How many numbers have you said?  8  



https://www.youtube.com/watch?v=XyIV_xYi0as
https://www.youtube.com/watch?v=XyIV_xYi0as
https://www.youtube.com/watch?v=XyIV_xYi0as



